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MANDATORY TEST - VI

ii.

Total Marks: 300
Time : 3 hrs

Section A
15x6 =90

Answer the following in 50 words each
Answer all the questions

What are the common features present

both in plant and animal cell?
SHTeuy ailevmid, QFev®EHdHBHlemL_BGul
STILILIBLD QUITHILILIGITLSH6NT  6Tene?

Write a short note on parthenocarpic fruits
BHYBTEEM BT GBSS FBSBLIL cuDIH

Children eating more fast food tend to
suffer obesity - Comment

afls o _cwieysmen  SIHHWOTS 2 ETaEmIDd
&\PHENHEH6I 2 L6V LI(THLDGOTITGV
UTSHSSULBSBSIT - H(HHBIDTEHSD

Write the characteristics of ECG.
r.&1.20-UN6ST  LIGWIL|SEN6T 6T(LDSHISH

What is Myocardial infarction?
Bpwssms bFayped GHTUI 6T6IBTeL 6TeiTe?

Write a short note on various types of
vaccines.

WY QUMD ICININR: L0 UL
FAp@SPLY euemys

Write the Significance of Meiosis

@aIme0 UGLUUeT  (psHWSHIaID  GHBIHSR
TDBHIB

Define and differentiate
aumIWDIHH CoupiGsHis

a. Pandemic / urei_1fls
b. Endemic / eieii1fs

c. Epidemic / G106
d. Sporadic / eb@umymgs

Define the term Ploidy. List out the
significance of ploidy.

DIQUILD 6103  USHHNS UDTWDBISHEH  DIH6
WPSHHWSHIUSHBUID UL I9uIed(hs.
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What is the reason for the absence of
menstrual cycle during conception or

pregnancy?
&(HHH TGS LI o1 SI6060F
STUUSTe0HH LTSI LorgaiLmul Simdl

&6060TIO60 EBULSBSTET STTEIHRISH6T  6T6n6u?

Explain the taxonomic hierarchy of a

species.

FBplensdHeir  euenasLILITL (B LIQ[B)6n605 6061
allend@d

Differentiate gymnosperms and
angiosperms

2)1bBeuTTer0GILITLD 6T LoBEILD

SLEhFCWTerOLITbS6T - CoupuBsHsHIH

What are jumping genes?
ST 23GTH6T 6T6HIBT6D  6T6sT6nt 7

What are the modes by which CO, is
transported in the blood?

AIS55S5H60 HMTLET-DL-DHmFH SLHSHLILIBLD
(LPEDMBE6IT  6T6m6U?

How does the posterior lobe of pituitary

help in osmoregulation?
DITEFFLOMHIENEVEHLLIL Guamieuglsd WCug e
sruuiesr et sty eeleumsnl o SHe sdmal?

Section B
10x12=120
Answer the following in 150 words each
(1.5 pages)
Answer all the questions

What is single cell protein? Write its
applications.

QBMBF CF6L LIS 6IHBT60 6167 DIH6T
LILIGBTSE6TT  WITen6u ?

Describe the components of blood.
BrHHHHeT Fapisenen aieurl

How could you appreciate function of a

tiny cell in a large body of an organism?
Qum o L6 o ulflulled o siten qp Fm G&Fev
Gawebupld alsd GMISH aleurl.

Cancer causes about 4 million deaths
annually throughout the world. In this
context Explain the causes, classification,
treatment and preventive measures for

Cancer

2 cusemaled  emiBCaHTmID 4 Wlevedulest
DS 61T UBICHTWITED B\BE S GBI 60TT.
@seanglienLuied  UBpICETUIsS  STrenilseT,
AU BHGT, HFng (LPEDBH6IT LOBBILD
SULWMBHET GBS l6NbEe.
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Comment on the methods of Eugenics.
woigefléserd (pempeeil GBS BHSHINTEHH
Answer three of
questions

Weiteupd  elemsseilsd gBHamID  (LeiTBaISHS
allent_wier

any the following

a. Why do you think it is not possible to

produce vaccine against ‘'common
cold'? (4m)

FTSHTTCIF ERIEG) THITSH SBULY
GHMS 2 BUSH  CFUIW  (PQUTHS)

GUIHS 2 _HBHMS B([hHH WTHI?

b. Write a short note on prions and
virions (4m)
Wfwreise woppid  efiflwreiseT  @psasl
fpieBiiy euemys

c. Write a short note on Vector borne
diseases (4m)
FLHHH6T  eufins
GUISa GBIy auemys

ugeyb  Grmuisert

d. Define and differentiate Prebiotics and
Probiotics (4m)
UWfenuBGumesd  oBEID
eI WBIHSH CoupLBHHIS

LGITLIBWITI&Hen

What is a second messenger? Explain its

role in the functioning of Hormone.
GOUeWILTD [Bleme0 HMHIUT  eTeiTlg  — Wimgh?
ammTGoneisefler  QFWeOLITL g0  Sjeumnsledr
Uidlenet a6 @b.

Genetic code is universal. In this context
explain the salient features of Genetic
Code.

LOJLIGTD)I CIINIC) 2 _6UEHGTaIWLIGI.
SIGHEMYLILIGNL U0 SIS FplubssHms
allensd@Hs.

The reaction between an antigen and
antibody is the basis for humoral
immunity or antibody mediated immunity
- Comment

Qb GHTUOUTIHET  HITeWIg  LOBMID  GTHIT
QurmeTsEpsHenL Cuwmer  alenerGu  gyeu
aup SI606VG) T FHTOLIM(HeTT ol
GBTUISHHML SHMTLILDE SlQLILIEOL WM

DIMHABH — H(HSHHIMTHD

Explain the mechanism of crossing over.
GBIHCaBBF QFW(WmB GBS alendsGHs
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Section C
6x15=90
Answer the following in 250 words each
(2.5 pages)
Answer all the questions

Answer the following questions
eitaumld alemobseEndh@ allenl wief

a. Define Respiratory Quotients (RQ) and
describe how it varies with respiratory

substrates. (10m)

Fgourgd  GamiurG  umIwWmBISSH i
elelaUTEl  &OUTF  cpeudbdnBl  OUTDBISS
LTRUGSBSH aTaTLMS alleNeEHS.

b. Differentiate aerobic and anaerobic
respiration. (5m)
STBBI  BHID  STHBSleTF  FeuTd SHHemev
GoupIiLBHHI®.

What are the assisted reproductive
technologies to increase the chances of
pregnancy in infertile couples?

EGEEES Buwieom HLbLIF B 61Tl6iT
SILILIDEDL_ULD T I Nemeot DIFHEfbHEF
QFuIub B ICL(HEHD FHleneuT

O&HTP6OBIL LIBIH6T 6T6n6?

Explain the technique used to identify
variations in individuals of a population at

the DNA level in detail.
welsHTaeEpsHam Cu o 6tem  CoupLTGHemeN
19..6T631.6] Slenailed SewTLpsiw LIWwesTLI(BLD

CamlevmI LD GBIHSH alendEHs

Explain the problems of drug abuse,
Alcoholism and enumerate the treatment
methods.

LO(hh &) ement HEUMBTEH LWSTLI(B SHSISH6L,
GYLILPSSHHET — LTHBLOTRT e llensITe)Hener
allondasl  Slumpllest UL BLAUYHMBDHEN

GBHBID G110B1S.

Evaluate various government efforts to
eradicate tuberculosis.

sTFCHTUWImen  QUWHES  DIF  dBHHHIOUHLD
usBeouml (wwBFsel GBS WHIINBS.

Give a detail note on five kingdom
classification
WHFHI60H eUemSBLILIT(H
AL

G alfleurs




